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e :

Note :

1.

(i) FF I A 8, 99 7 G a1 IR & IR A7 |

Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(i) FqP F97 & G YT F FHIR TH Gre &7 A2 |

Solve all parts of a question consecutively together.

(iii) 3% F¥7 F1 79 Y8 8 IREY FHord |

Start each question on fresh page.

(iv) M1 19137 8 37 517 1 1413 & 35 srgane & = 8 1

Only English version is valid in case of difference in both the languages.

(1) ¥H® THeS AN FHE H S8R 83 F 231 78 918t =ifge

(@) 1.5, 20 (b) 107 1.8-2.1+

() 2.1 2.1+ (d) g

The Dado tile height in bathroom and shower area should be as per standard
norms

(@d 1.5m20m (b) 1.0m,1.8-2.1m
() 2.1m2.1m (d) None

(2) = R Surd Bt =nfee

(@ 22t (b) 2.0 (¢) 1.75W (d) HETE
The shower height in bathroom should be
(a 22m (b) 20m (¢) 1.75m (d) None

(3) v vitauE, e e d dard | oft W wnfua g =i |

(@ 0.6 (b) 1.0t () 045d (d) wETE
Indian water closet pan at breadth, should be placed from the wall

(a 0.6m (b) 1.0m (c) 045m (d) None
(10f8) P.T.O.
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T HHEE JFER a9 9dH H w3 & I918 v @A E q Gl
=ty |
(@) 097 (b) 08-1.0%(c) 087 (d) A&
The height of wash-basin from floor in residential toilet should be as

per standard norms.
(a 09m (b) 08-10m(c) 0.8m (d) None

arsh ol 8 ey W ¥ sfmer A RTS AR

(a) 0.6Ht (b) 075" (¢) 045# (d) TEHGH

In residential house the wardrobe designed should have depth of

(a) 0.6m (b) 0.75m (c) 045m (d) As per client

w6 g 3 Fmior § Fe g o S foram s € -

(a) s, farfie, Afire (b) &g e

(c) IhEBhwnfes,w@ (d) @

Construction materials used for construction of a residential wardrobe are

(a) Ply, veneer, laminate (b) Metal Sheet
(c) Engineering plastic, glass  (d) All

@am%mﬁﬁz,mﬁﬁmmaﬁiﬁmmﬁ@ém
TEUE g =Ry
(@) 0.4x06% (b) 0.47 x0.554i

(c) 047x0.6t (d) IS &

Steel filing cabinets used in offices should have give width and depth as per
norms.

(a) 04x0.6m (b) 0.47x0.55m

() 0.47x0.6m (d) None

aTée 9IS TS G 31 & Al d: T I 391 o wman 2 |
(a) WIEHE THY (b) S &

(c) a3 @ig (d) IS

A side board is an item of furniture basically used at

(a) Besides Bedroom (b) Dining room

(¢) Near living room (d) None
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(9) 3o it i HaRYr UE feuat 3 ST H el S AT 8 Hl TER gt

2
(@) 22.5-37.5%5d (b) 607t
(© 75%f (d) T
Cupboard basically a furniture used for storage and display has a depth of
(a) 225-375cm (b) 60cm
(c) 75cm (d) None
(10) TR SThToT it ey TEER A ST A bt i @
(a) TSI M (b) foeR-TE=
(c) FEHHTR (d) IS H FIRE HAH
Electrical appliances which is not used in residential kitchen
(a) Microwave Owen (b) Mixer-Grinder
(¢) Induction Plate (d) Washing Machine (Cloth)
(11) GearTa w i arfvies fradl # e wefid &
(a) TSR A2 A (b) @i 3= A
(c) “hiee =M welH (@ &+t
Machine used in Institutional and Industrial commercial kitchen.
(a) Micro vending machine (b) Hot vending machine
(c)- Cold vending machine (d) Al
(12) o oy wtor 1 Frer Prafor anft s s & e s g
(a) IS TS (b) e T wE
(c) SIS () =g
Following construction material is not used for kitchen counter
(a) Granite slab (b) Concrete chip slab
(¢) Plywood (d) Metal sheet
(13) Tt R FEe i S B =R |
(a) 75@H (b) 60 FH
(c) TITEsh WA (d) @i
The height of residential kitchen counter should be
(@ 75cm (b) 60cm
(¢) Client anthropometry (d) Al

P.T.O.
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(14) el A s dhimes gt =l |

(@ 708d  (b) 80FM () 60FH (d) @
The depth of any residential kitchen counter should be
(@ 70cm (b) 80cm (c) 60cm (d Al

(15) 39 YR F Toel oa F Fmfor & ue Hat ! sl s s 2

(16)

(17)

(a) Toramard (b) &
(c) e ass d) sFHIASEA

Which type of false ceiling should be installed in order to make a room sound
proof ?

(a) Gypsum board (b)  Acoustics

(c) P.V.C.tiles (d) Any of these

= faeai v A T &1 SN et Ba &1 @l fafor § T8 frar ST @ |
(a) Toefin gwm (b) =3

(c) wetfufeue S=a (d) i T

Which section is not used in ceiling framework of false ceiling ?

(a) Ceiling section (b) Stud

(¢) Intermediate channel (d) None

o= afa § @ #5991 SElaa 7 S AGEF @ Thell Ia AH FE IE FH @
qEA 7

(a) Bd (b) Foum €ig w e

(c) Ba & el &a hi gl @ &t

Which of the following should be confirmed before beginning of false ceiling
work ?

(a) Ceiling

(b) Marking on gypsum board

(¢) Clearance-of false ceiling and ceiling
(d) Al

(18) =it Ba famior & | wgaa & aTel &9 T H1 ATHR &1 8

(a F (b) V (c) U d T
What is the shape of the main runner for construction of false ceiling ?
(@) F (by V () U d T
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(19) Fr=fefaa vata § o o fawrees ar @i 2 ¢

(@) 3 fouromh giam (b) e farsreh dam
(c) Tiig fearares dam (d) whshie fauras §an
Which of the given option is not a type of partition wall ?
(a) Brick partition (b) Glass partition

(¢) Gum partition (d) Concrete partition

(20) P wata § 9\ a1 Sty TR Sravasal STt faTs % e § B R 7

(a) T A (b) @&fqu
(c) Tian sfgssr (d)

Which of the following is an important requirement in design of internal
partition wall ?

(a) Thermal insulation (b) Sound insulation

(c) Weather exclusion (d) Heat

(21) T FT=ates favrores <ram St g+t =nfee ?

(a) W&o (b) FoH TEAA
(c) ®eieh! Ud et (d) IS

Any internal partition wall should be

(a) Heavy and thick (b) Light and thick
(c) Light and thin (d) None

(22) T e favras dan 1, B s & U =S & w9 | I ST 2 |

@ &= b) @ (o AWM (@)
In timber stud partitions, a stud of short length is known as

(a) Sill (b) Head (¢) Nogging (d) Puncheon
(23) Tl %1 B9 4 e waig wdie 2

(a) TR ey (b)  hrhr e Tl

(c) ITICATEY Wepid (d) Terwrdt

Following option is best matched to wooden flooring :

(a) Resist water (b) Does not fade

(¢) Non-elastic nature (d) Economic

P.T.O.
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4) wo P s wivechigeama _ widi )
(a) FFEEHE (b) F9ti o
() ¥W@wE (d) I w@
The first step in flooring is
(a) Base coat (b) Topping
(¢) Sand filling (d) R.C.C.layer
(25) oyl arnft, fl gefie wss wa S @ 3 3§ s B e
fafir ameml sk A= T A e s 2 |
(a) WSl (b) T
(c) wES d ==

(26)

flooring material called polyvinyle chloride and it is fabricated in the
form of tiles, all different sizes and various colour shades.

(a) Rubble (b) Rubber
(¢) Plastic (d) Stone
syfies dram 43 frer Frafor aafiet & i 3 &
(a) RIS (b) TS
(c) wred d) =
Modern wall panelling is constructed by using following construction materials
(a) Plywood (b) Plastic
(c) Marble (d) All
27) TMESA R SAE T dn s et d S g =R
(@ 0.754 (b) 1.5%
() 117 (d) g
The height of the bar counter from the floor should be
(@ 0.75m (b) 1.5m
(c) 1L.l1m (d) None
(28) I HIEet T -2 ¥ fere @ @ Frfor grh sqa § ferr s @ 2
() TRE (b) IS
(c) WfiAes =i a8 (d) @t
What are the construction materials used for table top of reception counters ?
(a) Stone slab (b) Plywood

(c¢) Laminated block board (d) All
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(29) F5 3t dre HATEE 3 TTEH] % WR B e Bt Hi =gt frad g TR ?
(@) 15@dt (b) 30T
(©) 60 & (d) TEE@R

What is the width of counter for customer level on service counter in Banks and
Post offices ?

(@ 15cm (b) 30cm
(c) 60cm (d) Not provided

(30) e foril 3 aY it e o forw ve Ye v e T Bl 2
(a) frEem H&He (b) U AR HTHet
(c) o HTH (d) TR H&HH

Type of counter where there is drawn board and customer is provided Hand rest
and foot rest.

(a) Reception counter (b) Post office counter
(c) Bank counter (d) Bar counter (1x30)
2. T = gev | |fas ques

Explain the following in brief with help of neat sketches :

(1)

TS H AAHTE

Office cabinets

(i) = AT I AT

Low cost toilets

(ili) TSl BT B

Timber flooring

(iv) T 8T TH A-HEE

)

Self-service buffet layout

T STl
Reception counter (2x5)

3. W,MWW%W%WWMaW%M

Give the standard norms and specifications for Industrial, Institutional and Office
toilets. (10)

P.T.O.
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4, oEA WSR aYT SEHT % WE IAat H1 faversu Hife |
Differentiate between wardrobe and cupboard. (10)

5. aiaifies fee % OHE SEiee omeve, ht fafidw, sEfee FeEr AR E
FETIROTSA ! THATIT |

Explain the standard functional norms and material specifications, functional plan and
service concepts for Industrial Kitchens. (10)

6. FraIwch Ba F i § wen ot en s fFutu w1 %1 5aku |

Explain the steps by step working methodology in construction of continuous false
ceilings. (10)

7. A= ¥ fawreies dan fmfu % i, @, 2w gl % i 3w |

Explain the stopend L, T and cross joints in timber partitions to self-assumed scale.  (10)

8. (a) UMW AR ShEel i I 3T IYFNT i Wi FHHATY |
Explain the traditional wall panelling and their uses by sketches.

(b) %I H HTeR I ATAIEHAT TF TN i A SA13T |
Explain the need and benefits of floor skirting by sketches. (5+5)

9. STHEX HTH I M Td UM 715¢ | @ity we | |fga g i |

Give plan and elevation of a post office counter. Name all the parts and dimensions. (10)




